	GRADE 10

	LESSON

37


	CREDIT TRANSACTIONS

RECONCILIATION OF CREDITORS


	WORKSHEET 1


	As with Debtors we also are required to reconcile the Creditor’s control balance with the Creditor’s List.  Again we can us the diagram below to identify where the mistake took place and where we need to do the correction.




















EXAMPLE OF CREDITORS CONTROL ACCOUNT

CREDITOR’S CONTROL ACCOUNT

	2011
Feb
	28
	Bank & discount received
	CPJ
	99 300
	2011
Feb
	1
	Balance
	b/d
	57 600

	
	
	Total allowances
	CAJ
	15 100
	
	28
	Total purchases
	CJ
	140 000

	
	
	Balance
	c/d
	83 200
	
	
	
	
	

	
	
	
	
	197 600
	
	
	
	
	197 600

	
	
	
	
	
	Mar
	1
	Balance
	b/d
	83 200

	
	
	
	
	
	
	
	
	
	



REQUIRED
Use the information below to reconcile the Creditor’s control account with the Creditor’s list.
INFORMATION

GENERAL LEDGER OF THABO’S TRADERS

CREDITOR’S CONTROL ACCOUNT

	2011
Feb
	28
	Bank & discount received
	CPJ
	99 300
	2011
Feb
	1
	Balance
	b/d
	57 600

	
	
	Total allowances
	CAJ
	15 100
	
	28
	Total purchases
	CJ
	140 000

	
	
	Balance
	c/d
	83 200
	
	
	
	
	

	
	
	
	
	197 600
	
	
	
	
	197 600

	
	
	
	
	
	Mar
	1
	Balance
	b/d
	83 200

	
	
	
	
	
	
	
	
	
	


CREDITOR’S LIST ON 28 FEBRUARY 2011

	
	Debit
	Credit

	O. Onion
	
	42 000

	B. Bean
	
	17 900

	C. Cabbage
	
	20 320

	P. Potato
	
	4 680

	
	
	84 900


Additional information
	1.
	The Creditor’s column in the Cash Payments Journal had been undercast by R300.

	2.
	An invoice issued to O. Onion for R16 400 had not been entered in the Creditor’s Journal.

	3.
	Discount of R200 received from C. Cabbage had been entered in the Cash payments Journal but had not been posted to the account of C. Cabbage.

	4.
	A debit note sent to B. Bean for R1 340 had not been entered in the Creditor’s Allowance Journal.

	5.
	An adding mistake had occurred in the account of P. Potato.  His account should be R4 180.


ANSWER

GENERAL LEDGER OF THABO’S TRADERS

CREDITOR’S CONTROL ACCOUNT

	
	
	
	
	
	2011
Feb
	1
	Balance
	b/d
	57 600

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


CREDITOR’S LIST ON 28 FEBRUARY 2011

	
	Debit
	Credit

	O. Onion 
	
	

	B. Bean 
	
	

	C. Cabbage 
	
	

	P. Potato 
	
	

	
	
	



REQUIRED

Use the information below to reconcile the Creditor’s control account with the Creditor’s list.
INFORMATION:
Opening Balances:
Creditor’s Control  R19 940

Creditor’s List
   R19 260

Transactions:

	1
	An invoice for  R1 760 has not yet been entered in the Creditor’s journal.

	2
	Discount of R120 had not been entered on the account of a creditor, J Smith.

	3
	A debit note for R3 200 had not been entered in the Creditor’s allowance journal.

	4
	The Creditor’s journal had been undercast by R300.

	5
	The Creditor’s list had been undercast by R1 000.

	6
	The opening balance of the Creditor’s control account had been overcast by R100.


ANSWER 
	No
	Creditor’s control
	List of Creditors

	
	Dr
	Cr
	Dr
	Cr

	Balance 
	
	
	
	

	1
	
	
	
	

	2
	
	
	
	

	3
	
	
	
	

	4
	
	
	
	

	TOTAL
	
	
	
	

	BALANCE
	
	
	
	



REQUIRED: 
Correct the Creditor’s information below, and rewrite the account & list correctly on the answer sheet.
INFORMATION
GENERAL LEDGER OF THABO’S TRADERS

CREDITORS CONTROL ACCOUNT

	2011
Feb
	28
	Bank & discount received
	CPJ
	72 300
	2011
Feb
	1
	Balance
	b/d
	109 050

	
	
	Total allowances
	CAJ
	6 500
	
	28
	Total purchases
	CJ
	52 300

	
	
	Balance
	c/d
	82 550
	
	
	
	
	

	
	
	
	
	161 350
	
	
	
	
	161 350

	
	
	
	
	
	Mar
	1
	Balance
	b/d
	82 550


CREDITORS LIST ON 28 FEBRUARY 2011

	
	Debit
	Credit

	L. Basset 
	
	35 400

	B. Stafford  
	
	26 250

	C. Rottweiler 
	
	18 200

	P. Fox 
	
	9 250

	
	
	89 100


Additional information
	1
	B. Stafford’s account was overcast by R400.

	2
	Invoice received from C. Pom for R8 200 had not yet been entered.

	3
	The balance on the Creditor’s control account was undercast by R2 000.

	4
	An allowance by L. Basset of R7 200 had not been posted to his account.

	5
	Discount of R1200 received from P. Pom had not been recorded at all.

	6
	The balance of P Fox’s account was calculated incorrectly.  It should have been R11 300


ANSWER
CREDITOR’S CONTROL ACCOUNT

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


CREDITOR’S LIST ON 28 FEBRUARY 2011

	
	Debit
	Credit

	L. Basset 
	
	

	B. Stafford  
	
	

	C. Pom
	
	

	P. Fox 
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	ACTIVITY 1


CREDITOR’S CONTROL ACCOUNT

	2011
Feb
	28
	Bank & discount received
(99 300+300)
	CPJ
	99 600
	2011
Feb
	1
	Balance
	b/d
	57 600

	
	
	Total allowances
(15100+1340)
	CAJ
	16 440
	
	28
	Total purchases
(140000+16400+300)
	CJ
	156 700

	
	
	Balance
	c/d
	98 260
	
	
	
	
	

	
	
	
	
	214 300
	
	
	
	
	214 300

	
	
	
	
	
	Mar
	1
	Balance
	b/d
	98 260

	
	
	
	
	
	
	
	
	
	


CREDITOR’S LIST ON 28 FEBRUARY 2011

	
	Debit
	Credit

	O. Onion (42 000+16 400)
	
	58 400

	B. Bean (17 900 – 1 340)
	
	15 560

	C. Cabbage (20 320 -200)
	
	20 120

	P. Potato (4 680 -500)
	
	4 180

	
	
	98 260


	ACTIVITY 2


	No
	Creditor’s control
	List of Creditors

	
	Dr
	Cr
	Dr
	Cr

	Balance 
	
	19 940
	
	19 260

	1
	
	1 760
	
	1 760

	2
	
	
	120
	

	3
	3 200
	
	3 200
	

	4
	
	300
	
	

	5
	
	
	
	1 000

	6
	100
	
	
	

	
	3 300
	22 000
	3 320
	22 020

	TOTAL
	
	18  700
	
	18 700


	ACTIVITY 3


GENERAL LEDGER OF THABO’S TRADERS

CREDITOR’S CONTROL ACCOUNT

	2011
Feb
	28
	Bank & discount received
(72 300+1200
	CPJ
	73 500
	2011
Feb
	1
	Balance
 (109 050 +2000)
	b/d
	111 050

	
	
	Sundry a/c
(Total allowances)
	CAJ
	6 500
	
	28
	Sundry a/c
(Total purchases)
(52 300+8 200)
	CJ
	60 500

	
	
	Balance
	c/d
	91 550
	
	
	
	
	

	
	
	
	
	171 550
	
	
	
	
	171 550

	
	
	
	
	
	Mar
	1
	Balance
	b/d
	91 550

	
	
	
	
	
	
	
	
	
	


CREDITOR’S LIST ON 28 FEBRUARY 2011

	
	Debit
	Credit

	L. Basset (35 400-7200)
	
	28 200

	B. Stafford  (26 250-400)
	
	25 850

	C. Pom(18 200+8 200-1200)
	
	25 200

	P. Fox (9 250+2050)
	
	11 300

	
	
	91 550


CHALKBOARD SUMMARY















POSSIBLE ERRORS


If the mistake took place on the Document or in the Journals we will have to correct both the Creditor’s Control and the Creditor’s Ledger accounts (i.e. the List).  


If the mistake was totaling of the journals, then only the Creditor’s control account must be corrected.


If the mistake was in the posting, it will mean that either the Creditor’s control or Creditor’s Ledger will have to be corrected depending on to which account the posting was made in the first place. 


If there is a calculation mistake in either the Creditor’s control or Creditor’s Ledger the calculation will simply be rectified i.e. added correctly.











documents received from or given to CREDITORS


 e.g. invoices, cheques, debit notes.





Entered in the correct Journal





POST 


individual amounts





POST


totals





to the 





CREDITOR’S LEDGER accounts





to the 





CREDITOR’S CONTROL account








CREDITOR’S LIST total








CREDITOR’S CONTROL 


balance





Should be equal





ACTIVITY 1





ACTIVITY 2





ACTIVITY 3








documents received from or given to CREDITORS


 e.g. invoices, cheques, debit notes.





Entered in the correct Journal





POST 


individual amounts





POST


totals





to the 





CREDITOR’S LEDGER accounts





to the 





CREDITOR’S CONTROL account








CREDITOR’S LIST total








CREDITOR’S CONTROL 


balance





Should be equal
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